=

INETR

-

8818H(E) - 198(H)

T B8 (JRH%DER—H—J %)

11& 2
JRE%0ERA] (N EciINZ=88) . .
(BRO—5— 2D 8:00 1110
DUNVBERED 840 11:50
= -l 850 12:00
({8 ESY » BIBLSE)
B P VY—IvI)ILTHT VIERESRROE —
SERE - 9:00~

EIBISEAD | FRIDNEFO:0 O~

FEDE1 2:30~

XENSHRBCTIOT. SOUSSHETHBLTS

MEESORAL. B0/ N 2B RICEELET

881 88(1) - 198(8) /8 E? (B S—>JRSHER)
1@

= %5 1545 \

DUVSERED 1555

JRES0ER 16:35

*BIRRICKD., BIBHFRICZDOEINNHDET,

JRS%08RA1 (BRAIO—4'J— =D
£725  mmto I
—_— T
%
—— J_._E] 2T H
= F1BR B e8]
[ s 3 E? _{1"}5
= -
AT I =
APy .

/4




